



St. Louis County, Minnesota

Date of Report: 5/7/2025 8:28:21 AM

General Details										
Parcel ID:	415-0010-01225	Conordi Dotai								
Legal Description Details										
Plat Name:	LAKEWOOD									
Section	Town	ship Rang	e	Lot Block						
4	5′			-						
Description:	E1/2 OF N1/2 OF	N1/2 OF SE 1/4 OF SE 1/4								
Taxpayer Details										
Taxpayer Name	HOEMBERG DO	UGLAS & ELIZABETH								
and Address:	2914 ROBERG R	D								
	DULUTH MN 558	304								
Owner Details										
Owner Name ASPERHEIM ELIZ ROBIN										
		Payable 2025 Tax Su	ımmary							
2025 - Net Tax \$4,473.00										
	2025 - Specia		\$29.00							
	2025 - Tot	nents	\$4,502.00							
		Current Tax Due (as of								
Due May 15 Due October 15				Total Due						
2025 - 1st Half Tax	\$2,251.00	2025 - 2nd Half Tax	\$2,251.00	2025 - 1st Half Tax Due	\$0.00					
	. ,				\$2,251.00					
2025 - 1st Half Tax Paid	\$2,251.00	2025 - 2nd Half Tax Paid	\$0.00	0 2025 - 2nd Half Tax Due \$2,2						
2025 - 1st Half Due	\$0.00	2025 - 2nd Half Due	\$2,251.00	2025 - Total Due	\$2,251.00					
		Parcel Details	3							
Property Address: 2914 ROBERG RD, DULUTH MN										

School District: 709 Tax Increment District:

Property/Homesteader: ASPERHEIM, ELIZABETH R

	Assessment Details (2025 Payable 2026)										
Class Code (Legend)	Homestead Status	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity				
201	1 - Owner Homestead (100.00% total)	\$76,900	\$330,900	\$407,800	\$0	\$0	-				
	Total:		\$330,900	\$407,800	\$0	\$0	3980				





St. Louis County, Minnesota

Date of Report: 5/7/2025 8:28:21 AM

**Land Details** 

Deeded Acres: 5.00 Waterfront: Water Front Feet: 0.00

Water Code & Desc: W - DRILLED WELL

Gas Code & Desc:

M - MOUND Sewer Code & Desc:

Lot Width: 0.00 Lot Depth: 0.00

	In	nprovem	ent 1 Deta	ails (RESIDEN	CE)		
Improvement Type	Year Built	Main Floor Ft <sup>2</sup> Gross Area Ft <sup>2</sup> Basement F		Basement Finish	Style Code & Des		
HOUSE	2004	1,74	44	1,744	U Quality / 0 Ft <sup>2</sup>	RAM - RAMBL/RNC	
Segment	Story	Width	Length	Area	Foundation		
BAS	1	8	8	64	FOUNDA <sup>-</sup>	ΓΙΟΝ	
BAS	1	28	60	1,680	BASEME	ENT	
CW	1	8	12	96	BASEME	ENT	
DK	1	4	6	24	POST ON GI	ROUND	
DK	1	4	8	32	POST ON GI	ROUND	
DK	1	8	18	144	POST ON GI	ROUND	
DK	1	12	16	192	POST ON GI	ROUND	
Bath Count	Bedroom Coun	t	Room C	Count	Fireplace Count	HVAC	
1.0 BATH	2 BEDROOMS		-		0 C	&AIR_COND, PROPANE	
	Ir	nprovem	ent 2 Det	ails (DETACHI	ED)		
Improvement Type	Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc	
GARAGE	1930	67	2	672	-	DETACHED	
Segment	Story	Width	Length	Area	Foundation		
BAS	1	24	28	672	FLOATING SLAB		
	İr	mprovem	ent 3 Det	ails (ATTACHE	ED)		
Improvement Type	Year Built	Main Flo		Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc	
GARAGE	2004	67	2	672	-	ATTACHED	
Segment	Story	Width	Length	Area	Foundat	lation	
BAS	1	24	28	672	FOUNDA <sup>-</sup>	ΓΙΟΝ	
		Improve	ment 4 De	etails (SCREEI	N)		
Improvement Type	Year Built	Main Flo		Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc	
SCREEN HOUSE	1999	14	4	144	-	-	
Segment	Story	Width	Length	Area	Foundat	ion	
BAS	1	12	12	144	FLOATING	SLAB	
		Improv	ement 5 [	Details (BARN)			
Improvement Type	Year Built	Main Flo		Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc	
BARN	1969	35	2	352	-	-	
Segment	Story	Width	Length	Area	Foundat	ion	
BAS	1	16	22	352	POST ON GI	ROLIND	





St. Louis County, Minnesota

Date of Report: 5/7/2025 8:28:21 AM

		Improv	rement 6	Details (Grey)					
Improvement Type	Year Built	Main Floor Ft <sup>2</sup> Gross Area Ft <sup>2</sup>		Basement Finish	Style Code & Desc.				
STORAGE BUILDING	1979	64 64		-	- -				
Segment	Story	Width	Length	Area	Foundat	ion			
BAS	1	8	8	64	POST ON GE	ROUND			
Improvement 7 Details (RED DOOR)									
Improvement Type Year Built Main Floor Ft 2 Gross Area Ft 2 Basement Finish Style Code & Dec									
STORAGE BUILDING	1985	220	0	220	-	-			
Segment	Story	Width	Length	Area	Foundation				
BAS	1	10	22	220	POST ON GR	ROUND			
Improvement 8 Details (RED ST)									
Improvement Type	Year Built	Main Flo		Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.			
STORAGE BUILDING	1945	96	;	96	-	-			
Segment	Story	Width	Length	Area	Foundation				
BAS	1	8	12	96	POST ON GE	ROUND			
		Improvem	ent 9 Det	tails (10X20 FAE	3)				
Improvement Type Year Built Main Floor Ft <sup>2</sup> Gross Area Ft <sup>2</sup> Basement Finish						Style Code & Desc.			
STORAGE BUILDING	0	200 200		-	• •				
Segment	Story	Width	Length	Area	Foundat	ion			
BAS	1	10	20	200	POST ON GR	ROUND			
Improvement 10 Details (10X20 FAB)									
Improvement Type	Year Built	Main Flo		Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.			
STORAGE BUILDING	0	200	0	200	-	<u>-</u>			
Segment	Story	Width	Length	Area	Foundat	ion			
BAS	1	10	20	200	POST ON GROUND				
Improvement 11 Details (8X8 FAB CP)									
Improvement Type	Year Built	Main Flo		Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.			
STORAGE BUILDING	0	64		64	-	-			
Segment	Story	Width	Length	Area	Foundation				
BAS	1	8	8	64	POST ON GE	ROUND			
	0.1	- Danierte 1	4 - 4h - C1	Lauia Ossus	A !				
		s keported	to the St	. Louis County	Auditor				
No Sales information re	eported.								





St. Louis County, Minnesota

Date of Report: 5/7/2025 8:28:21 AM

		A	ssessment Histo	ory				
Year	Class Code ( <mark>Legend</mark> )	Land EMV	Bldg EMV	Total EMV	Def Land EMV	De Blo EN	dg	Net Tax Capacity
2024 Payable 2025	201	\$76,900	\$325,800	\$402,700	\$0	\$0	)	-
	Tota	\$76,900	\$325,800	\$402,700	\$0	\$(	0	3,924.00
2023 Payable 2024	201	\$76,900	\$323,200	\$400,100	\$0	\$0	)	-
	Tota	\$76,900	\$323,200	\$400,100	\$0	\$(	0	3,989.00
2022 Payable 2023	201	\$73,500	\$323,200	\$396,700	\$0	0 \$0		-
	Tota	\$73,500	\$323,200	\$396,700	\$0	\$(	0	3,952.00
2021 Payable 2022	201	\$40,500	\$251,700	\$292,200	\$0 \$0		)	-
	Tota	\$40,500	\$251,700	\$292,200	\$0	\$(	0	2,813.00
		1	Γax Detail Histor	у				
Tax Year	Тах	Special Assessments	Total Tax & Special Assessments	Taxable Land MV	Taxable Buil MV	ding	Total T	Taxable MV
2024	\$4,465.00	\$25.00	\$4,490.00	\$76,663	\$322,206		\$3	98,869
2023	\$4,699.00	\$25.00	\$4,724.00	\$73,215	\$321,948	\$321,948 \$395,		95,163
2022	\$3,745.00	\$25.00	\$3,770.00	\$38,983	\$242,275 \$281,		81,258	

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.